
Γ ΛΥΚΕΙΟΥ ΜΕΡΟΣ Α 

 

14.12       1)   

Είναι    
x 1 , x 1

f x x 1
x 1 , x 1

 
   

  
 

Οπότε 

   
 
 

f x x 1

f 1 1 1 0

x 1 x 1 x 1

f x f 1 x 1 0 x 1
lim lim lim

x 1 x 1  

 

  

  

   
 

  x 1
1  

και 

   
 
   

f x x 1

f 1 1 1 0

x 1 x 1 x 1

x 1f x f 1 x 1 0
lim lim lim

x 1 x 1  

 

  

  

    
 

  x 1
1   

Παρατηρούμε ότι 
       

x 1 x 1

f x f 1 f x f 1
lim lim

x 1 x 1  

 


 
  

άρα η συνάρτηση δεν είναι παραγωγίσιμη στο xo  1 

14.12       2)   

Είναι    
2x 8 , x 4

f x 2x 8
2x 8 , x 4

  
   

   
 

Οπότε 

   
 
     

f x 2x 8

f 4 2 4 8 0

x 4 x 4 x 4

2 x 4f x f 4 2x 8
lim lim lim

x 4 x 4  

 

     

  

  
 

  x 4
2  

και 

   
 
     

f x 2x 8

f 4 2 4 8 0

x 4 x 4 x 4

2 x 4f x f 4 2x 8
lim lim lim

x 4 x 4  

 

     

  

    
 

  x 4
2   

Παρατηρούμε ότι 
       

x 4 x 4

f x f 4 f x f 4
lim lim

x 4 x 4  

   


 
 , άρα η συνάρτηση δεν 

είναι παραγωγίσιμη στο xo   4 

14.12       3)   

Είναι   

 
 

 

2 2 2

2

2 2 2

x x 3 5 x x 3 5 x x 2 , x 3
f x x x 3 5

x x 3 5 x x 3 5 x x 8 , x 3

            
     

            

 

Οπότε 

   
 
     

2

2

f x x x 2

2 2f 3 3 3 2 14

x 3 x 3 x 3

f x f 3 x x 2 14 x x 12
lim lim lim

x 3 x 3 x 3  

  

      

  

      
  

  
 

 
x 3

x 3
lim






 x 4

x 3




3 4 7      

και 

   
 
     

2

2

f x x x 8

2 2f 3 3 3 2 14

x 3 x 3 x 3

f x f 3 x x 8 14 x x 6
lim lim lim

x 3 x 3 x 3  

  

      

  

      
  

  
 



 
x 3

x 3
lim






 x 2

x 3




3 2 5      

Παρατηρούμε ότι 
       

x 3 x 3

f x f 3 f x f 3
lim lim

x 3 x 3  

   


 
 , άρα η συνάρτηση δεν 

είναι παραγωγίσιμη στο xo   3 

14.12       4)   

Είναι    
   

 

2

2

2

x 7x 10 , x , 5 2,
f x x 7x 10

x 7x 10 , x 5, 2

        
    

     

 

Οπότε 

   
 
     

2

2

f x x 7x 10

2 2f 3 3 7 3 10 2

x 3 x 3 x 3

f x f 3 x 7x 10 2 x 7x 12
lim lim lim

x 3 x 3 x 3  

  

      

  

        
  

  
 

 
x 3

x 3
lim



 


 x 4

x 3




 3 4 1       

14.12       5)   

Είναι    
 

   

2 2

2

2 2

3x 2x x x 5x , x 0,2
f x 3x 2x x

3x 2x x x x , x ,0 2,

      
    

       

 

Οπότε 

   
 
     

2

2

f x x x

2f 2 2 2 6

x 2 x 2 x 2

x 3 x 2f x f 2 x x 6
lim lim lim

x 2 x 2  

 

  

  

   
 

  x 2
2 3 5    

και 

   
 
     

2

2

f x x 5x

2f 2 2 2 6

x 2 x 2 x 2

x 3 x 2f x f 2 x 5x 6
lim lim lim

x 2 x 2  

 

  

  

     
 

  x 2
 2 3 1     

Παρατηρούμε ότι 
       

x 2 x 2

f x f 2 f x f 2
lim lim

x 2 x 2  

 


 
 , άρα η συνάρτηση δεν είναι 

παραγωγίσιμη στο xo   

 


